Solutions for Practice of Section 1.6

" Given f(x) = 2x-1 and g(x) = x2+3

Find

(Frg)(x) (g f)(x)

g

——(x o fI-3
f( ) (fef)=3)
(f2)(2) (fg)(-1) -g(2)

D (o) = £l ghd= 1x-l+xs = Whtyde
9 ( i° f Juy= 4 (ﬂxﬂ = a(lx -1)= (1%~ \\1'1"5 = Qxl- ya+l+3 =

= Y- 44y
A 8
) TS 00T o

) (fero0< flom) = §lox-0 = 2fax-i)-1=4x-2-1 > gx-3
(PO 2): 4 () -3=-12-3=-15
o«

(o) E3) = LR (-2 =F(2E-1)= §(-)=

=23\ -1 = -5
) ({-3\(‘\ :f(ﬂ)%(ﬂg (’L- 2—I) ( 1-1"'3\‘—‘ 2F =2|

D RN -g0) = FEd 960

h ) = (101 —-l)Dﬂ) (1" +w)=

= (N - =-l-F=-1



2. Sketch the inverse of this function




3. Determine the inverse of these functions:
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4. Given f(x) = 2x-1 and g(x) = x? - 3 domain: (0,20)
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